
令和 4年度 一般選抜 A個別方式（第２期） 

理  科 

「物理基礎・物理」解答 

 

１． 

1 2 3 4 5 

ヘリウム 

原子核 

電子 92 − 2x + y

= 82 

238 − 4x

= 206 

8 

6 7 8 9 10 

6 2.52 × 109 6.0 × 103 2.6 × 106 2.6 × 103 

 

 

 

 

 

２． 

問１ 𝑣𝑥0 = 𝑣 cos 𝜃 ，𝑣𝑦0 = 𝑣 sin 𝜃 

問２ 𝑡𝐴 =
𝑣 sin 𝜃

𝑔
 

問３ 𝑥𝐴 =
𝑣2 cos 𝜃 sin 𝜃

𝑔
，𝑦𝐴 =

𝑣2(sin 𝜃)2

2𝑔
， 

問４ a = −
𝑔

2𝑣2(cos 𝜃)2 ，𝑏 =
𝑣2 sin 𝜃 cos 𝜃

𝑔
，𝑐 =

𝑣2(sin 𝜃)2

2𝑔
 

問５  

 

 

 



３． 

問１ λ = 4.0 m，A = 0.20 m，T = 0.50 Hz 

問２ y = −0.2 sin (
𝜋

2
𝑥) 

問３ y = 0 

 

問４ y = −0.4 sin (
𝜋

2
𝑥) 

 

問５ 𝑥 = 1, 3, 5, 7, 9 m 

 

 

 

 

 

 

 

 



４． 

問１ 2.0 × 10−5 C 

問２ 1.0 × 10−4 J 

問３ 5.0 × 102 rad/s 

問４ 1.0 × 10−2 A 

問５  

 

 

 


